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The following data is given for an economy for the

- year 2016, How each of the following transactions would

affect the GDP and why ? B
() Rs. 10 lakh is paid as interest on the national debt.

(i) Icecream maker began the year with Rs. 5,000
worth of milk in his factory and at the end of

the year he is holding Rs. m.w..uo worth of milk.

Using the .n:mama. theory of money and the Fisher's
equation explain in detail how the rate of growth in

money affects the nominal interest rate ? 5

Explain whether a new environmental protection law that

requires firms fo reduce their emissions of poliutants

(an mxomn_._o:m event) will shift the short run. aggregate
supply n:.a.,.__o. m_. aggregate demand.What \Ed the wom@
options available for ﬁ.ra macroeconomist working with
the moca_s:_o:_u to &Emamma effect ow these events on

the economy ? Explain using suitable diagram. 7
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(a) What are the uses of private savings ?

®)

©

e 8929

i ]

Suppose a country’s quantity of money is Rs. 600 billion,

nominal gross domestic product is Rs. 12 trillion and
the real gross noaammn product is Rs. 6 trillion.

(1 trillion = 1000 billion)

. () What is the price level and velocity of money in

this country ..w, _

(ify Suppose the velocity is constant and the
" economy’s output by 5 per cent each year. What
quantity of money and money supply should the
central ga.r set next year if it wants to keep the
price level stable ? (Caiculate money supply- in

billions), : 23

Using the suitable diagram in IS-LM framework show
the effect of introduction of w_=<om==n§ subsidy on the
level of consumption, 583@. investment and interest
rate in m: economy. Also, compare the results with other

expansionary fiscal policies. 7
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Explain briefly the following concepts :

() Household fixed investment.
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() Monetary neutrality, * . | vy
’ ®)  Assume that the ‘demand for rey| money balances s
fepresented by the following : _

MP<Y {04 ~ ¢ + expected inflation)

Where; chmnm_ Income (Y) = zm._ 2000
Real interest rate ) = 4%

Expected inflation = 6% is constant in short myn

() Calculate seignorage, if the rate of growth of

nominal money is 15 per cent forever,
(#) Calculate the inflation tax when actual inflatiopn
equals 6 per cent. Is it equal to Seignorage 9 3 2

©° ,Unm..a budget sumplus. What does negative _u:n_mz

surplus mean 2 Explain ﬁ_zm msszn diagram, 3

5] Mxv_m_s the n%aoﬂ of Eo_.omma in government

purchase on c:amnu surplus.

L
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(F)

(a)

()

M/P = Y [04.~ G+ expected inflation)

s : Wk S (Y) = 2000 TR
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If the GDP deflator for the year 2016 is 110 and the
nominal GDP for year 2016 and year 2015 are 5500 and
3800 respectively, find the rate of growth of real domestic

product keeping 2015 as base year. =

Seignorage is the real revenue from money creation. If

the government chooses a constant rate of nominal

PT.O.
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money growth and maintains it forever, what would mw
3

its effect on seignorage ?

© - () Graphically mwn_mmz the derivation of aggregate '
demand curve using IS-LM framework. 3

(i) Explain monetary transmission mechanism. 4

(31) 3R mn_uo‘a # fou opp fewdier 110 & =8
2015 @ 2016 & fow wHfs Gpp wHW: 3800
7 5500 &1 T 2015 P IWUR T TR AATH
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5. (@) What are components of current account of the Balance

of Payment of a country ? 3

( 9) .

®» A bond promises to Pay $£1000 in one Yyear.

. H zs._m.ﬁ is the interest rate on the bond if its price

today is.$ 500 and § 300 ?

: Q@. What is the relation between the price of the bond

32

and the interest rate ?

© O What do you Bnaw by crowding out 2 Explain
n .

i 3
using a suitable diagram.

(i) When the demand for real money balances is less

responsive to the rate of interest, crowding out

- : - s h
is- more. Explain using suitable diagram.
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(@)  Explain how each of the following transactions would
B.=2 !
enter the India’s balance of payment accounts,
L =02Y - 8

L The Reserve Bank of India sells doiiars and buys
‘ () Calculate the equilibrium level of income and

3

rupee from a Swiss Bank.

H Indian resident opens a Swiss wmar account. 3 interest rate.

' o ill be crowded out +if the
() What is a money Bc_:v_ﬁ_, ? m:%owo an economy has (#) How much investment will | g

. . , 120 and
a Eo:ng base of § 10 a_=_o= Calculate money mﬁﬁ_w government increases its purchases by

‘ ? 4
in the following m_Em:ozm : nominal money supply remains unchanged

() Frefifin # 4 7w w2 T F
g_aro_a_5vﬂnﬁ.:o?:&n%&ﬁﬁ..ﬂgg ..“ - v @ § 9 wite feu s e s

. . - [ PTO.
(i) ANl the money is held as currency. 32- vy . :

(6] >= the money is held as demand deposits and
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379 et &y 10 Yfysrm frod = s 7 (@) How does GDP differ from GNP ? If a country m_:v_ova..
Y @ T Em:.v‘ foreign workers, which is likely to be Em_a.q“

@ W W AR B g . GDP or GNP ? _ 3

{8y = What are the social costs of a predictable inflation ? 5

C:= 200 - (@ Consider a loanable funds market of ap economy. The
i + 0.5 Yd 3
. . following equations describe the economy :

Yd =Y - Tax

, Y=C+G+1
Tax = .2y '
Y = 6000
I =400 - 36
G = 2000
G=izo PTO.
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T = 2000
C =500 +05(-T)

I = 2000 - 50r

Find the equilibrium rate of interest and national

savings, - 3

Now suppose the government reduces the taxes
to 1000. Compute by how much amount .ma the
following change : disposable :Soﬁm.
consamption, investment and national savings due

to fall in the tax. \ 4
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(c) The 5000 consumers of a product are equally
divided between brand A and brand B this
year. However each year 10% of brand A
consumers of the previous year shift to brand
B whereas 20% of brand B consumers of the
previous year shift to brand A. The total
number of consumers remain fixed. Set out
the problem in matrix form to answer the
following :

sﬁﬁﬂf@m%sooowﬁwmAa
sz B # il ¥ 1 ofted sz A & Rew af
& STl § ¥ 10% SiE B 9 =) S 8
S Wi B & [Usd a¥ & IqHeRmST d 4@
20% SE A T = I & | IgAEreS H G
der Rax T B 39 wuen #oonegE &
w9 ¥ faRgw g goa@ @eem 9 Freatiiad
geit & IR AR | |
(i) What is the proportlon of brand A_
‘consumers after 2 years ? :
2 gt o SiE A B ST B ST 47

B ? |

What was the proportion of brand A

consumers last year ?

Red a9 siis A % STHRARST @ ST a1

qr ?

(ii)-

4

=
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(d) (i) - The plane P is perpendicular to the
x-2 y+4 _z-3
3 5 2

passes through (1,’5, 7). Find the
~equation of the plane P.

straight line and

Xx=2 y+4 rAK

5 2
kL= (perpendlcular) gaar(l,5,7) 8
ToRA ¥ | TR P B AHHTOT AW B |

If 3 and § are vectors of unit length,

e (plane) P, T@T 5

(ii)
under what circumstances is the length

of their difference equal to 2 ?
aR ; Ty TS oS B 4w , @ e
RRaRE & 59 o & TS 2 B SR
B ? |
How many different matrices of order

3 x 3 can be formed that are both ‘

7

(e) (i)

diagonal and idempotent ?

FH 3 x 3 & Y fpa S-S SR
ST ST Aeha & N1 b Repurieaes (diagonal)
off 2 g eTzemaiee (idempotent) ¥ ?

5 P.T.O.
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(ii) Describe the set of vectors
set S span
the set of vectors A, B and C?whrel:f'g b d

@ieet A, B 9 C, &RT 9 ¢ (spanned)

aftell & agEaE @ qoiv HIRE o
Y (4 (7 1N(4)(7
A=41205]|9]p B=4|2], 8 ARLAISIE. |
3)l6/)18 31112121

2. Attempt any two from the parts (a) to (c} in this
question. S5x2
3T 9 H T (a)  (c) ¥ | fFE A % Ik A |
(a) (i) Specify the domain and provide a rough
sketch of it for the function
f(x,y)=In(9-x*-9y*). Also provide a
rough sketch of the level curve at the
height 4. ‘

was f(x,y)=In(9-x*-9y*) &1 wxrd
fofaw g Sa@ us Y@ieE 9930 | SR 4
IX 5GP W 95h B W ARRIT HIOT |
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(ii) State three different necessary and

(b) ()

(tangent

sufficient conditions for concavity of a
function f(x, y) that is continuously
differentiable of order 2 and is defined
on a convex domain. :

e Ieiel U9 (convex domain) g g eTfe
g H9 2 B T (continuously
differentiable) % lx, y) @ e
(concavity) 3¢ FIF STEAT-STTT SALHD g
SEIS NG %@m

For the surface defined by the
differentiable function z = F(x,!—], show
: X

that the tangent plane at (x,, ¥,
intersects . the Z axis  at

7z =F[xl’..yl)__F'; [XI’ZL}XI .
X, X)) -

= F(XUL}—F‘)( (XPL‘)X‘ gT QR[ ﬁﬁﬁ
. X }

X,

(intersect) HILM 2
7
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(ii) Draw a sketch of the level curve(s)to

, 2
the function. f(X,Y)=2—y+(1J at the
X \x

height 3 cm or m. Is the function

homothetic ?

2y 2.
LIS f(X,Y)='x—+(%J % S 3 cm or

m IR FF (I961) 3 RRAT Hifere | a7
I8 B sMISfes (homothetic) & ?

(c) The temperature at a point (%, y) on a metal

plate in the X-Y plane is T(x,y)= .
v I+x?4y? -

X—Ymﬁmgzﬁrqzs'éé%%@;(x,y)w

T(x,y)= Xy
e T(x,y) rxiiy? B

(i) Find the rate of change of temperature-
at (1,1) in the direction (2,-1).
(1,1) 9 faem (2,-1) § arom= & qRgd EA)
& ST ISt |

9115

(ii) - An ant at (1,1) wishes to walk in: the
direction in which the temperature drops
most rapidly. Write down the unit vector
in that direction.

(1,1) 9X Reerq wep =i1EY I e & =re=r =medt
2 e arge= q= ool § Far 8 1 59 Ran
¥ geprs Al fikaa

3. At'temptv any two from the parts (a) to (c) in this
question. 6%2
T AT H AT (@) 9 (c) § 9 52 & & I S|

(a) Given that the function f (x, y) is homogenous

of (%,y) o(xy)

g , show that ——=% and
of degree p, show tha % an dy

are homogenous of degree p-1 . Using this,
or ~otherwise, prove that

X’ +2xyfL +y*f, = p(p-1)f(x,y)
R T & b et f (%, y) I p o1 oA B, A1

of(x,y) _ Of(x.y)
@ﬁ—s—qa;Ta o Ife p-1 & qHE

2| T erar ], a1 o fuw FHifta B
x*f +2xyf, +y’f, =p(p-1)f(x,y)

9 - PT.O.
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(b) (i) State the implicit function theorem

B

R R SR (implicit funetion theorem)
ot foRaa |

(ii) The functi |
onflx,y, z u, v : R > R? is

defined by the system of two €quations :

u3yz+2xv—u2v2—2=0;andxy2+xzu
+tyvi-3 =0 » has a solution at(x,y, z, u,
vi=(1,1,1, 1, 1). Find the values of the
_endogenous variables u and v when
X = 1.02,y=0.99, and z=1 .
tﬁ?*Fr"f(x, Y, 2, u, v) : 9;;5__,933 o % &
F%{Uﬁ%ﬁmzu3yé+2xv—u2v2—2=
0 ;axy2+xzu+yv2-3=o,éqﬁwfﬁa%,
Y20, v = (1,1,1, 1, 1) v e
I x = 1.02,y =099, g 4= f aY
AT =X (endogenous variables) u 7 5
P A 1 A |

10
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(é) State the definition for a quasi-concave
function. Use the definition to test whether
the following three functions are quasi-

concave : ,
) f(x)=x* (i) gx) =yx @) h(x,y)=xy
ush o7 SYaae (quasi-concave) WA @5t TR

e 13a 9fRreT 3 e | Fre=fefag 9 st
F aref oTaae BN B T B | -

() () = %2 (ii)glx) Vx (i) h(x,y)=xy
4. Attempt any three from the parts (a) to (d) in

this question. 7x3
FA 9T & 9 () § (d) § & BFal fi9 & Sk it -

(a) Derive the conditions on «,Bunder which
the function f(x,y)=2x"y",a,p > 0 defined

on the domain x>0,y>0 is:

a,B U IT I B F@H Hiore P oTef,
gy gixwifyer wa+

qyUd x20,y=20
f(x,y) = 2x“yB, o, >0.
(i) Strictly Concave

a&qq: Sgad (Strictly Concave) &

11 P.T.O.
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(ii) Concave

HITA (Cpncave] 2
(iii) Quasi-concave

- o7k -araEe (Quasi-Concave) 2
(iv) Convex-

I (Convex) B |

(b) State the sufficient conditions for a function

to possess both a global maxima and a global

minima in its domain.

Find the global extreme points for the
function f (x, y) = x?%y® defined on the set

{5y %21,y 2, x +y<10}.

T T % 9 7 Afdaes SReErs (global maxima)
T Aftaes M s (global minima) T 89 %@
ST 9Tt @t folaa

A {x,y)|x 21,y >2, x +y <10} 0 gRefeg
B f (%, y) x2y® & Afyges ==y f&g (extreme
points) s FHifSma |

12

(c)

(d)

9115

Find all stationary points of the function
f(x,y)=x3+y?-2xy —2x2 + X -y+4 claséify
the stationary points as maxima, minima and
saddle points.

T (X, 7) = X3+ Y2 2xy - 2x2 + X -y + 4 B
T4l ReX forg (stationary points) s #ifm |
3 fargedi @i S (maxima), M5 (minima)
a1 et &g (saddle points) & A 9X Fffea
Hfr '

A point moves on the curve x? + y2 = 100 . At
what point is its distance from the point
(x, y) = (10, 8) minimum ? If the constant
100 in the equation of the curve were to be
increased by one unit, what is the
instantaneous effect on the minimum

distance.

- us faeg T x2 + y? = 100 9X 7T ®3ar 81 e

forg ot forg (%, y) = (10, 8) & ! T =
erft 2 afX & & TEeRToT 3 Rex =191 100 1 T
o1 A I AT ST A 58 =g 4 I At
(instantaneous) S/ 4T R ?

13 P.T.O.
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All questions are compulsory.

4‘ Qgestibhs }, 2 and 3 are of (10) ten marks each. |

Questions 4, 5 'and:6 are of (15) fifteen mérks each.
L (A)  Write a short note on the title of the story The Intrusion
by Shashi beshpande. ‘ 10

| Or

®B) Comm_c;nt on the significance of the radio in the story,
The Free Radio. Do you think it works as a metaphor
for lzirger deceptions ihat the State is involved in ?

Present a well-reasoned argument.

P.T.O.




A)

®)

Ay

®)

A)

®)

(A)

(2 ) _ 8930

With reference to Nissim Ezekiel’s ‘Enterprise;, -explain

the relationship between pursuit of fecognition and the

feeling of belongingness. ' 10
or i

“Don’t write in English, they said, lEninsh is not your

mother tongue”. With reference to Kamla Das’s poetry,

reflect on the predicaments of Indian English writers.

_The significance of the Albert Mission High School in

Swami and Friends by RK. Narayan. 10
Reflect critically on the portrayal of Mirpore in Anita
Desai’s In Custody.

Cbmrilent on the underlying irony of Swami’s role in
the nationalist unrest of his time. -15

Or

’

'Cric!(et as a colonial legacy in Swami and Friends.

Diécuss.

«.J think he misses home and us and everything he
left behind, because if he likes it over there why would
he not write stories about that..” Do you agree with

the speaker in the above lines ? How do the memories

" of the narrator surface in his writings in the story

“Swimming Lessons” ° lllustrate your answer with

examples from the tex: 15

®

(A)

®)

Or

With reference to at least two poems from your syllabus,
write an essay on the significance of childhood to poetic
imagination.

In Custody captures the perilous relationship befween
institutional control and indi'vidual aspirations in the life
of an academic. Discuss Qith refereﬁce to Deven’s
struggles in the novel. _ P

. o .

Deseii’s novel dramatizes language politics in modern
India and the disappearance of Urdu from public spaces.

Reflect critically.
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Attempt all questions.

SECTION A
1. ldentify the passage given below and éxplain with reference to

the context -; _ . TR |

So after long pursuit and vain assay,
When 1 all Weai'y had the chase forsook,
- The gentle deer return'd the self-same way, s

Thinking to quench her thirst at the next brook.

PTO.




Or - ' '
' Saucy pedantic wretch, go cl;idé
: Latevscho.ol boys and” sour preﬁticeg? a
| ':Goyj tell court huntsmen that the king will ride,
Cé]] -country ants ‘to- haivest oﬁjéeg, ;

Love, all alike, no season knows nor clime, .

’Idéntif;y the“’passage given belobw,’and explain with refefénce’ to

the context : e

Both law “dnd .’physic are for petty wits;

' Divinity is basest of the three,. »

Unpleasant, harsh, contemptible and vile:

*Tis inagic, magic that hath ravished me.
or =

Was this the face thfat launch'd a thousand shiips,

And -bumt the toplés§ towers of 'Iliuni ? .

Sweet Helen, make me immortal with a kiss.:. .-

Her lipsf.suck bforth:my soul, see-where it flies -

: 3y _ 9116
3. Identify the passage given below and explain with reference. to
the context ' - S 10

“Fair is foul, and foul is fair;”

or,

T

“...... Make no compare

- Between- that love .2 woman can bear me ; . . 0 -

And »th‘a‘t 1 Qwe.Oli‘via.”i - _;f;;s-;s -
o SECTION B
» 4 | “Mé’cbeih is»wor}ked ﬁpénfby force;s of éviyl,.yieldsto’ te:hptatidn
in spité‘-bf all »tbhatb his conscience can do to stop hirh..:.and is
Broughi to. rétfibu‘ti»on by death.” Sl}lbstantl;até.' , R 15
Thg'&agédy in- Macbeth results frém t}rbénsgr’essior'l; in the
natural bbo:r;.ie.'r. | Discﬁss’. | |
5. Shakespeare explores the dynamics of g;ndef and power through
the,stage ¢onv?nit,iobnrs Qf cross dressing “in Twelﬂ}_l Night.

Discuss. " ’ s

PTO.




e 96

In what ways does Shakespeare subvért ‘the conventions of

courtly love in Twelfth Night 7 Explain with exampl_es.'

Critic.ally examine the character of Jankin:

Or
‘““Marlowe brings in all the elements of the Mdrality play -
machinery; but without. any of the -consolations of Morality

vision.” —Do you agree ?
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Note :—  Answers may be written either-in English or in Hindi;
. but the same medium should be used throughout the
paper. ,
feouft .39 yeA-v F IW AUSH AT et frelt ww wm
T difsw; Afw ot SO0 w1 T T g e
=B .
Attempt any four questions.

All questions carry equal marks

frdl a® yl & SWw s
|t 9l & 3w gHE T

1. In the light of recent researches critically examine the nature .

of Mauryan state.
T M H e W 9 TSa @ w1 whE
HifQ |

P.TO.




« 2 ) - 8937
How far would you agree with the view that the concept of
tinai is central to the understanding of social, economic and

political history of Tamilakam during the period between 300
'BCEt0300CE?

mmmﬁmwmiﬁ!ﬁsmmsoe

T ¥ 300 ¥ w ooEfy B A R afeEw

® wmifes, fdE ww TR shem w e
§ fd # smumon ® WM W meE ¥ 2
Examine the state of agrarian economy and production relations
during the period between c. 600 BCE to 300 BCE. |
600 TETgd | 300 tagd @ o i sl
aq SEEAd gadl @ feafa w1 wawr swifea

' Critically discuss the natare of India’s intemal and external
trade durmg the penod between €300 BCE to 300 CE. How
far did trade contribute to the spread of Buddhism outside

India ?-

WO 300 SEgd ¥ 300 & W ooy B WA
YR B iaf® iR W@ WU ® w|@Ew #®
AR - = FIAY| 9K § TR g ol @
TR § WOR w fEem dmEm @ ?

Evaluate the condition of trade, currency and urban centres of

India during the period between 4th century CE and 750 CE.
Aeft wt &t ¥ 750 T RN WRa d AR,
AR AN TRE Bkl &t fefd @ qeaied s

¢ 3) 8937

Outline the changes. in ‘the varna and Jati systems during

the period between 4th century CE and 750 CE.

et wH TR ¥ 750 Twh F drw wwl @ S
el § a1 agorEl @ fafga wifsw '

Trace the development of sculptural art in India during the

period between 300 BCE and 600 CE.

3oo§qrffﬁeoo§draﬁaafua‘;aﬁawﬁ

-gﬁm%ﬁmaﬁﬁﬁaaﬁmn

Write shon notes on any two of the following :

(@) Untouchability in ancient India

()) Teachings of the Buddha

(© Vaishna_vism .

(@  Scientific and technical  treatises.
Freffa # & fol & s feoafort ffe :
(@ WM WRG # STOgvFa
g w1 faad
© Fom ud
@ o aw e T
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feomoft .8 -9 @ W SR A e fee v e
H <ifvm; afes ot Sl & e T &/ e
=g |
Attempt four questions in all.
All questions carry equal marks.

FHA AR FEA F T G
aft vt & o wE ¥

I Throw light on the important changes that contributed 1o the

establishment of democratic institutions in Athens.

e H yomtew Sl @ e § fm weel
el A WRE K@ s W oywm Sifaud

P.T.O.
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Attempt all questions.

All questions carry equal marks.

1., “Crimes become more newsworthy if they it_wolve pepole who
are themselves newsworthy.” Discuss this statement in the
light of celebritics allegedly involved in crimes. Describe in
detail how you would cover one such story if you are assigned

the crime beat. . - 15
Or

“information on health care is complicated”. How can reporting
on health care bring about awareness among the public?
Expiain with examples from some of the campaigns under the

government of 'In.dia initiatives ?
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All questions are compulsory.

L Mass culture has made the individual subservient to the

‘absolute power’ of -vc'apitalism. and has turned them into
‘cultural dupes’. Discuss with reference to the debates on
culture industries within the Frankfurt School. ¢ ‘ 5

Or

According to John Storey, Popular Cuiture can be understood
through six definitions. Discuss. «

P.TO.




(2 )'  © 9121

- Discuss current events with reference to the ideological -

state apparatus keeping in- mind - Althusser’s 'concep't of

Ideology. B _ R 15

or

Discuss Folk Culture as authentic culture which is being répidly

commercialized in contemporary urban markets with suitable:

examples.

What do you ﬁnderst_and by discourse? ;Dis’cuss discourse
analysis as a method for analysing media representation with

relevant' examples. - . : - o R

Elaborate the cépcept of represerftat_isn,wi'th reférencé to the
’metdié reportagé of- caste issues in Indian rﬁeaia.

Trace the growm_of féé’eption studies With\reférencé; to Stuart
Hall’s Encoding/Deéoding model. Discuss relevant _sfudiés that

have built on the active audience concept. 15

N

n

Fandom subverts the notion- of a given mass culture product

in several ways. Comment

( ﬂ; . .

q«,’/,( 3 |

3y ..o
5. “Medium is the message”, according to Marshal McLuhém.

~ environment. - o o B

Discuss the -concept .in relation to'_ the present media

.0,.-

~ Write notes on ahy ‘two from the following. All carry equal

.

marks : . ' . - 7.5%2=15

(@) Subculture D

()] HegemOny

(&) Reading Romances

(d) Political Ecoriomy.
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e

AR, b
&

Attempt All questions.

All questions carry equal marks.

1. Explain the functioning of the Camera Obscura. Illustrate with

the help of a diagram. 15
or

What do you understand by the term ‘Daguerrotype’ ?
Examine its significance in the development of photography

in the 19th century.

PTO.

s




( 2) 8443

What do you understand by digital photography ? Explain

how an image is formed in the digital process. 15
or

Discuss the different kinds of lenses used in photography.

N .
Discuss the principal characteristics of light and how they

affect outdoor photography. 15
Or

Explain with the help of a diagram the Three Point Lighting

system as used in studio photography.
Cfitically examine some key ethical ‘challenges in
photojournalism. g , 15

Or

Different genres of photography are governed by their own
set of objectives and techniques. In this coritext closely

examine Sports and Portrait photography.

Adobe Photoshop offers a range of possibilities to edit a

photographic image. Discuss some of its key functions. 15

Write short notes on any three :

(a)
®)

©

@
(@

'0,-&

- Cropping

Aperture
Tripod
William Henry Fox Talbot

ISO.

3x5=15
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any five questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

151 L 0 (A CEL

1 AHE-F & g & R Ry v FuiRe == w® sw=n
FFAIE TR | '
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8944 2

fF=E) dta e & IR AR
TRt v & 3w T ?

T WI - T9 1 IR i a1 B fom v wmn A Qfswg, afee
T IR T AEA TR B BT AR |

Why is Thales considered the original Western
Philosopher? Explain.

T H AT THAA RAGE F W T B 7 A
)

‘Everything is in flux’. Elaborate on Heraclitus’

claim.

Tt TEg¢ wa IRadHier 27 1 SfdeEE @ 9 I W A
Eodl

Explain Parmenides’ central thesis that ‘Everything is
One’ with reference to his poem on the Nature of

Being.

T ® EWNE W HAE & el § iR & ‘@h agy
Tw 2 @ ag fgm A = w70

4.

8944 3

Discuss, in brief, the similarities and differences

between Protagoras’ and Socrates’ philosophy.:

VARG T GHAT B Hordgh S qHE T 3R ) i
¥ fadeer i)

Discuss Plato’s theory of Justice with reference to

Individual and State as expounded in The Republic.

o I o fafseew § = # stauRen it @fe qur TS
& del ¥ fg weR R @ ¥ 7

Discuss Plato’s theory of tripartite soul as explained
in The Republic.

A & T Rufers A Tafdar srewm N sEuRer Y w@wEn
it e e

Elaborate on Aristotle’s theory of causation.

I A FONA FTURT S AR R |

Write short on:

(i) Nature and change (Aristotle)

P.T.O.
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(ify Doctrine of Logos (Heraclitus)
Hftrm oot ahifom
(i) wpfa T aRadT ()

(i) S W saumen (i)

(800)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt'

of this question paper.
2. Answer any five questions.
3. All questions carry equal marks.

© 4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Your Roll No....veevrannen

Sr. No. of Question Pilper : 8945 1C
Unique Paper Code : 12321201
Name of the Paper : Political Theory: Concepts

and Debates

Name of the Course : B.A. (Hons.) Political
Science — CBCS

Semester 11

Duration : 3 Hours Maximum Marks : 75

g ; 3 "oe quifes : 75

o

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any four questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

Bl & fog Ada

1 % WH-9A & fied &) 3w Ry RuiRe wwe w s
FwR ferfay |
P.T.O.
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s oR wsA @ I AR |

aft v B e g F

TG W3- TF &1 IR 3on a1 28t fndt ven o & Afsig, ofee
W ITU T A Th B BT 18T |

Write a critical essay on Negative Liberty with special
reference to J.S.Mill.

AT e & P ged ¥ Fenene Taad W IS
Ry fofae

Explain the Marxist Notion of Equality.

FAET $ AEIER] YR &) R DY |

Discuss Rawl’s theory of Justice with its major
critiques.

T B AE 3 R A fRew mE aEeAR & a9
HI |

Explain the concept of three Generation of Rights.

IFER & A Wfedt @ Rew N e Afve

08945 3

Discuss the Social welfare theory of Rights.
IR ® T wEw Fan e A R Skl
Why do we accommodate diversity in plural

societies? Discuss the issue with the reference to

Toleration.

‘TEeard gAT § Rfdud w1 e v T R S
27’ @ fawg & fAdw sRwE @ o ¥ it |

Critically examine the Feminist theory of Justice.

o & AREe REd w1 e qdwn S

Write short notes on any two of the following :
frafafas % @ fadl @ w aftra oot foRae
(a) Rights of Girls child

TR ®  AfER
(b) Relation between Equality and Liberty

A g @aadal & 99y
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(c) Global Justice

g

(d) Natural Rights

wE el

; v (4500)
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Name of the Paper . Political Process in India
Name of the Course : B.A. (Hons.) Political

Science
Semester : 11
Duration : 3 Hours. Maximum Marks : 75
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any four questions.
All questions carry equal marks.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
mﬁ%mﬁﬁ |
1 -1 S Red @ W R i PR we w s
R T |

2. 5 am vl & IR Ak

3. aft v & Fw T 2

4. T VE-9F HI IR AV a1 B R v v A i, dfee
@it I T ATEAN T A BT ARY

P.T.O.
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Evaluate the changing pattern of party system in India
keeping in view the last three general elections.

fros T 3 gl & Fe A WRAE Tehg T i wEert
wafeal &1 A o |

Do you think that the politics is religion neutral? Make
arguments in favour of your answer.

am‘mmzmﬁéé:ﬁ§naﬁﬁruﬁi?éawi%?3@%1nrﬁ
& AT |

Analyze the changing pattern of voting behaviou; in
India in the light of recent elections.

B & A B HEE A ARG Ao § AAEl EER
N SEed g2 gl 1 fawewer A

“Regional aspirations often turn into secessionist
movement but the answer is with the politics of
accommodation only.” Give arguments in support of
your answer.

‘AT SR R HTEEr QAT A qaw o 7 WY
TR & ToRE 7 3d a2 1 3 ITR % 9E
A 9 T FIOT |

9'i24 3

Analyze the influence of caste on Indian politics in

the light of globalization.

THSAIE B IEAE A WA ToFifa O Sy & W &
fameror A |

Write a critical essay on the politics of affirmative

action in India.

WA ¥ RS HRAE Aifg 3 T W AeEAeTs
fasu foRaw

Discuss the impact of globalization on the nature of

Indian state.

T T W TR W PR D i @ R
FIfT |1

Write short notes on any two of the following :

ol ¥ @ AT @ w R o R

(a) Post-poll alliances and the politics of opportunism

TAE TFE NSEUT T8 FIEAE AT

P.T.0
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(b) Need of Worﬁen Reservation Bill
#fRen e fRtas & sEvaE
(c) Dalit Politics in India
WRe ¥ Iferd oS

(d) Decline of the Congress System

HAAG IR H qaT

(4500)
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Differences
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Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

[

2. Attempt all five questions.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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5.

O

Write any two short notes from the following :
P ¥ ¥ feli W @ TR R
(a) Cognitive perspective of Personality

fehed & FAFSTS IR
(b) Self

o

(¢) Gender and Personality

foin ok =fwe
(d) Emotional Intelligence (7.5,7°5)

NS G

(900)
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Sr. No. of Question Paper : 8948 IC
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Name of the Paper Classical Sanskrit Literature
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Sanskrit Core
Semester : : I
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

2. Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,
but the same medium should be used throughout the
paper.

3. Answer all que'stions.

oA & forg Bdw

1 W yE-F & fiee & ow v w FuiRe == w s
CRERIENSITCIN]

2. IO FEEE 7 B W, T WA H IR a4 a1 By @
SN Rt var o A AfSig, «ifeT ot STRY &1 wneaw T @
BT <R |

3 ¥l yE & I AR
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.

‘gfteT: yretae W ot fafaw ) (10)‘

Comment on the statement ‘3f0s: weatfereas’.
Jrerat / OR

fayeala 3 IR W e & FuF F s @i

Describe the sayings of ‘f@R¥&’ on the basis of
[SESRICES

T TSN 1, 2 U9 4 ¥ W@FA qef ¥ ¥ FE dfg w
TR feoqeit fofaw |

Write grammatical notes on any five of the underlined
words in Question No. I, 2 and 4. &)

/AT () (Section C)

WA TEHE B I TE Rm | g sl 1 (10)

Through light on the origin and development of Sanskrit

prose.

Juar/ OR
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fFrafefee & ¥ Fl @@ w Ruht fofew
Write short notes on any two of the following :

TAHARARAY, ARSI, HIEF, qEadl

8. UGAURT & NUR W AFHHA H JUF Y |

Describe the W& on the basis of Sanskrit literature-
(10)

uar / OR
frefofer % @ &l @ W Ronft o

Write short notes on any two of the following :

ToEd, Y, geuTae, e, JaeeeEREat |

(1200)
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Your Roll No...............
Sr. No. of Question Paper : 9127 IC
Unique Paper Code -1 12131202

Self Management in the Gita

B.A. (Hons.) Sanskrit -
CBCS

Semester 11

Duration : 3 Hours

Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,
but the same medium should be used throughout the
paper.

3. All questions are compulsory.

BE & fog Ado

1 WYE-TF & fiee & W Re w PAuilRe @@= w s
Fgwaen Tl

2. IO EEEE O W, T YUT N I G A B @
3ot fardt vy & §ifSre, dfee it IR 1 InEw v
BT Y |

3 oot ye sfEd 2

P.T.O.
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Sy

Discuss the role of mind and senses in the process of
Self-Management according' to the Gita.

AHRE TR A TFR T qUA IR I A HROT W
A W & e A (n)

Describe the nature of mental conflicts and discuss

the Rajoguna as a root cause of mental conflicts.

HAYar/ OR

TR T oY WL FAA §Y difcasn Y9 anRieE B &
v @ aoie Fifse

Explaining the nature of Tamoguna describe the
characteristics of Sattvika and Tamsika diet.

fFefofes ¥ @ = d W Ruftef ffae .- (3x6=18)

Write short notes on any three of the following :

(i) = am . (Equanimity Yoga)

(i) By @ (Three types of austerity)
(iii) &A= (Meditation)
(iv) =gfu s=% (Four types of devotees)

(v) =i f& (Determinate buddhi)

(100)
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S. No. of Question Paper : 8950

Unique Paper Code . : 12301201 Bl

‘Name of the-Paper ¢ Introduction o Sociology-I1

Name of the Course : B.A. (Hm_wurs) Soéiology—-—CBCS
Se'm.es'ter ' : e i
Duration:3l-lbm*s 5 MaximumMarks:?S

(Write yero!!Na onme top :mmediarefy on recetpr of rkuquesuon pa,per }) . X
Note — Answers may be written e:ther in Engl;sh or in Hindi; - . - °

but ‘the same medium shpuld l;e._.used throughout_t-he g

paper. ‘ ‘ s
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Attet_npt four questions inall, three questibjg from Section A, i

and one ques;ion from. Section B. Questions -ﬁ'Om Section A

" carry 20 marks each and section B carries 15 marks each.
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”\T,his'. question papertcontains'i printed pages].
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. (Write your Roll No. on the top immediately oﬁ receipt of this question paper.)
Note :—  Answers may.be written either in English or in Hindi;
bt thc' same medium should be used thrpughdut the
paper. k S
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Attempt one querstioh’from Section- A, Attempt two

questions. from Section B, Attempt one question from

" Section C. .Qlyx‘es‘tion's‘:irif Sections A and B canjl 20 marks’

~ each and questions in Section C carry 15 marks each.
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Section A
(wma)

Write an essay on Ambedkar's critique of the caste system 20

Wﬁmwmaﬁan@w@wwﬁw‘

2t S R

What are the '.majo'r trends “and” challénges to the -

_mstltutlonahzatlon of Socnology as a dlsc1plme in India ? 20-
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- Section B

(“,,“’T ‘a')

In the light of -Ambedkar's contribution to Da]it'.emancipation,

discuss the Palit movement in lnd1a 20
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‘Dlscuss the roIe “of the dominant peasantry in understandmg

peasant movements m India. =~ - L PR 0
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- The middle class played a significant role in India’s deve_lopment.

Discuss. - o S 20
m%ﬁmﬁnwaﬁﬁw ‘{ﬁﬂv‘[ﬁﬂﬁ%l
fag=m wifsg
| Section C
(s w)

Secul_arism was 'an‘ answer to India's teli'gjens nlutalism. Yet, tt
has run into difﬁeulties.‘biScuss. I R 15
o B e TEeE PR T ¥ 1 A
Entitlements based on the.nat'ionality pﬁnciple eﬁen _conﬂictfwith
cmzenshlp rights. Explam | o - ,A e 15
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